’\P(D(V‘G \’J 4 ;:l‘_ 93§CA ﬁ- Hc =T > o -
I : L
. - = 3 U »
Raymond Pond T 3 SB205 =
) g‘ 980 2.; 99 L (-I:-)I % J_>| 8 8 %
\ 0 J 3.1AC 98 _I:?] = > =35
> 43497 zOTMm
°'79 '?:\o"),& 280" %(3:_['>F;—U|%
A\ N 2 5 41 Domag2q
5 > . =z30.9<3
¢ ©./ ; = 58 AC 1.45AC ~ m X5 CCD % = 35
s "’Y :(9 Z\ AD / 34 TREE GROWTH LAW ¢ 42 g%%zozg
> v 0 K 1.53 AC O mH =z T
u. e 0 By 1 Z>0<AH0
ll 23} e\l"g«a@ 2 5 BT 1750 gr;ﬁr:gmg%m
o \mm— ¢ RANGE 11 2 i 1743 QIO Q-T
o 746.49' 84287 - o 432 g cmo m
. R P‘ 1163' RANGE 10 ) 39A ) 3 TR p— 784 217.78' 'U_J T 0 )Z> % é e
| L A‘o § 22AC § 75A © 73A 8 GROZ522
AAQP‘ 807.83' ) 6.18 AC E s8AC E 3D o < ;’: ﬂ o ‘IO'I g
» ; ‘ 7 IZzgMm
/& 5 g = Admaod
O\ g ® [ o = e
75AC 8 2 5.35AC T T z G) TI> =X
o TREE GROWTH LAW 8 Zm ;>| oo
. 75 R m O - g
3 5 39C 11.82AC I, 1 <
2 I 2
c !
25 4327 I : > _ _
= H >0
: 693.77 : Z Z
23 44 e < AEEEE
34AC 35AC L. . _ X % % N <32
952.55° TREE GROWTH LAW TREE GROWTH LAW ® J§> mz 2 E J§>
6A 4=z0m{3
2 582 26588 |\ o oxU 5 6
ZOAngHLAW 310 P4 E % CZ) :(_>| =z
> E GR & —<d
" T 2 2 5 893508
y (‘{;’ 38 39 46A & Z—wm I=zcC
N J h c 2241AC » y ; =P O g
\\\\\‘ - ar 734 453N 20.47 AC % 8 > m>»<s M m
= - v Zes>40
N Yoz m®
5 & —4 — T
- 3 ; , mEoEZ0
\ é 27B - 159.39' . 855 E, E g (@ @] 5
} 0 © 16.99 AC R 3 . Z 5 Z0X
2 516.34 . s =w
8 : - <TsS>
1A 2 10AC R 1200 N\ > Z3 m
AC o S A 3 09
S \ 0000
\ 47 >9
< z
< R %55, \ o) b
N > ! 545' \ | :_E| Py 2
» 3 rg
S I —
S 11 y g
|
27C / 20 I 9
61 . F @ =
21.76 AC ‘s éo 2 & !
~ V? N 5 AY
7 ’\ 5 5 72 A\ o
29,5, & 71AC || \ -
\
O 51 \ N
¥ 46 180.4 AC \ \ o 3 _I
5 TREE GROWTH LAW 812.6' \ RANGE 10 c— O
. 5 2435 A0 ! RANGE 9 N
qu’ < )
59 3 g - O E
10.20 AC I(-IDJ ﬁ " Eg 1 Z
< 1807' RANGE 10 © : .
S| = — o )
1° RANGE 9 3 3 S vo
59B @ = | O
27.8AC : = 1E 1 O Q.
607 _| m
. 1755AC | O
2 o | & ® O
[30] o) rn.,:'l J x
N~
806.1' o : o >
P © 18 < £ <
(LQ@VQ Y, 1027 AC g :
0 -~ S
71 = i 0 < o
T4 1 =2
- 8l — ® )
. > o O
> o D
[
5 2 10 |11 [12 113
6’( & Lt 16 AC 107Ac |11.1AC | 114AC
53 \
71 621AC e 2301 225 225'
) ’ 0 )
7 1 A F 5> 5604 1023
R
54 \
3.5AC g
N o\, 28
57 6,\00 2 6’6’ 1TRC
e S \%90‘“ & 5221 AC 122AC
TREE GROWTH Layy 55 v\(@\,‘“‘* x & s
6.7AC ¥ 72, @
S s &
RANGE 9 ’?7/- n L — | (Y i 76'
— 2 S © 692
mE— . s CRRSTERSTREL T\ X 66 | EGYPT_RD QA‘ T e . O 0319 o
\ | 8A 2AC 9’?@, ’57(( " 1.8AC 2 == =2 N = 29 B ~ 1 9 m S =090
- . X
] / 200AC | g ) 56 37 37_1 \d Q « ® Wf,-’ 32 5 § 12.67 AC g ? %g %.% _8,
&, S 2AC x 65 3AC hc % i § e 2 0 3 2 = % ) ®3Q
\& \ =~ 1. g [0}
\ 7C : 7A Eh . i ¢ 23Ac / \\\ 203 o1 @ ~ g 8— &
g AC R oF AP\ > S 82 g3
13.83AC 22 < o © 2 c AN\ S 9< >
. g g QS | o2 PORAN 33 c2 S 9
. g —3/81 - < 64 K ™M s S ‘ O © z % Q3
3 AL —
2 < D 58 e B 0 ,51%1 \\\\\ 528 AC .700\ = § @ a.
& 39.98 AC 3 N ) S\ - )
87A & ?}OO § 6 A > ® - g g \\ N EJ._
§ N\P*““\?'\?O\N 4 L R S8A 37 g \\\\ 34 § >
100.7 AC s G@‘@» 1 > & 2 \ \\ %
68 QN 7i R)(9 5 /4/19 e \ 75AC N 83AC B
e \* 342RC § 3.97AC /QQ\?// 3 =N §
TREE GROWTH LAW l\ —7 /3 © AN
_ - 391.6' /0;7/ 2054c II [ > N \, \
y & > 185 Sé’) - ;;);.44 380' \)
I, 481.49' 3 N p— .
; | LA ¥4 /2 AN . 33A Map Properties
" B g o 204 N N 7428 AC
g : , ° 1 N Layer
- 42 AC 20 ;7 ~ Cemetery
i Ly
i & N —— Hook
/1 94 - N
i 780.45 / P - £ =
113 A 3 - 107 ' - :?, M Old Property Line 1
8 8.3AC -— e .
1 z : 7D H - 3 ———— Right-of-Way
I Iy \>\\$e g " sarac =9 083 oy 3 2 o _/
"3 ?\p\\/\\]\ < — TREE GROWTH Lay | £ 105 25 B 23.27AC o — —— Stream
, H I mmie — m— — _ L g g)) 1 ) P .
g ?X\ﬂ et E 3 e : 12.9351' 2690 20240 Subdivision Line
§ @) % 1 03 7 /
4. o 4418 2 H
"oz 102 Ok ‘ A CARRIAGEHILLRD 178016 =t Tree Growth Line
0 pC 8 8 200 3460 9 3264c 23 3501 2779 ) .
© - -
§ 5 11 3 Wetland
|: Eed 5.23AC 91 ; 25756 2562 751 0% 101 \= 1000 ?A? §§‘ 7.84 Al 122A 1 InCh equals 500 feet
\ | ! T, 20 3
! @ © & No'i.lo.. Pl s |0 500 1,000 2,000 Feet ake/pond Ma P 13
68 | | B _ sl= | | | | | | | | | Subject Map
; 20" o 2
N _=190]|93A T93 95 9% 97 i




